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1l in the blanks with appropriate word: (1-13)
01. Sheis one of the students who always.....1ate.

=

A. come B. comes C. has come D. arrive
. The tree has been blown----- by the strong wind.
A. away B. up C. off D. out
. Since you have a lot of money-----
A. I have also a lot of money
B. You can set up a hospital
C. Money is not always helpful
D. You have a huge business
. No ---- than twenty boys were present there.
A. less B. lesser C. few - D. fewer
. Rabindranath's stories often----- surprise endings.
A. had B. have C. has D. have had
Would you, please, do it, sir? The sentence is in--- .
tense.
A. present  B. past C. future  D. non
I saw him going there. Here 'going’ is----
A. participle B. gerund C. infinitive D. verb
. 'Simile and metaphor' is---
A. comparison B. poem
C. poet D. opposition
When the teacher came to the class, we noticed that
most of the student---- to the class.
A. did not come B. have not come
C. had not come D. do not come
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10. He ran---- the river bank with full speed.
A. into B. among C. at D. along
11. He provoked me----- react ---it.
A, for, againstB. at, against C. to, against D. to,
about
12. Tam not interested ----buying a new car now.
A to B. for C. in D. about
13. The whole class burst---- laughing.
A. out B. into C. in D. at

00se the correct sentence: (14-20)

A- You should avoid to make such stupid mistakes
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- Take care on Yyour health

. Take care Your health
Take care of your health

- Take care with Your health

o
F

- Nishi preferred 1o re
- Nishi preferred to re
- Nishi preferred re
- Nishi preferred re

ad than to write

ad but not 10 Writing
ading to writing

ading than wriling

[
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. Everybody except he was present

- Everybody except him was present

- Everybody except himself was present
- Everybody except his was present

1)
[« -]
> UQEP» UNWr UNWEP TAW» UAF» UNw

- Did you cut your hair?
Have you cut your hair?
Did you have cut your hair?
. Did you have your hair cut?

[
°

. I guessed, he will live in Dhaka
I guess, he will live in Dhaka

- T'guess, he lives in Dhaka

. I guessed, he lived in Dhaka

S
e

. One of my best friend is getting married today

- One of my best friend are getting married today
- One of my best friends is getting married today

N w

D. One of my best friends in getting married today
21. Synonym of the word ""Fundamental"® is-

A. easy B. complex C. original D. minor
22. What is the antonym of "inhibitor"?

A. solution B. catalyst C. reaction D. acid
23. The meaning of the word "'Scldom" is-

A. word B. cruel C. cruelly D. hardly
24, | ----- finished my letter yet.

A. am not B. had not C. have not D. will not be
25. What is the antonym of 'Esteem'?

A. respect B. regard

C. admiration D. contempt
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A 3MIEE B. 4RI C. 2
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A.Rabis virus

C. Flavi virus
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B. Rubeola virus
D. Yellow fever virus
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A.CO, B. CFC C. CH,4 D. Aoz
23. AT B RER 1) @ Ty
A= B. = C. Wiesgm D, s
24. I (TN TSR T St TG vt B
A. Y% B. 2¢% C. 0% D. ©e¢%
25. AfAfifm a= awm Ry
___ADRE  B.w@w C. afesfm  D.ezam g
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01. He said that he----- the previous day. §
A. had come B. came C. arrived D. were S
02. The principal and chairman--- present the last é
meeting. 5
A.is B. are C. was D. were g
03. Work hard lest, ----- i +
A. T will praise you B. You will fail g
C. You might fail D. You might be rewarded =
04. Either Munir or Sumir will sell ---- books. 2
A. their B. his C. one's D. none §
05. Walking is good for health. Here "walking"' is----. &
A. participle B. gerund C. infinitive D. adjective §
06. 'William Wordsworth' was---. 3
A. anovelist B. a short story writer &
C. apoet D. a philosopher *
07. You should stick....your principles. g
A.to B. with C. of D. for 3
08. Nobody is interested - buying my car. S‘
A.in B. of C. to D. at =
09. The King left .... heir. 2
A.a B. an C. she D. no article ?
Choose the correct sentence: (10-13) §
10.
A. She study there for a few months so far &
B. She studied there for a few months so far E
C. She is studied there for a few months so far &
D. She has studied there for a few months so far §
11. ¢
A.Ican not play at cards  B. I can not play in cards §
C. I can not play by cards  D. I can not play with cards 3
12, g
A. Why have you done this? 2
B. Why did you have done this? g
C. Why do you have done this? ?
D. Why you had done this? §
a
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03.

0s.

06.

07.

13. A. The number of people was very high
B. The number of people were very high
C. The number of peoples was very high
D. The number of peoples were very high

14. The synonym of the word "Formal" is-

A. Frankly 1B. Cofdial C. Official D. None
15. Antonym of 'Discrete’ is-

A. famous B. joking C. grouped  D. orderly
16. The synonym of 'Synergy"' -

A. antagonism B. autonomy

C. energy D. alliance
17. What is the antonym of '"Worst'?

A. meanest B. best C. last D. hottest

18. Choosc the exact antonym of '"Commissioned"'.
A. started B. cloned C. finished D. terminated
19. The word "off-spring’’ means-
A. twins B. children C. winter
Change the narration: (20-22)
20. He said, ""Alas! I am undone."
A. He cried out in with sorrow that he is undone
B. He exclaimed with sorrow that he was undone
C. He exclaimed in sorrow that he is undone
D. He exclaim in sorrow that he is undone

D. fountain

21. He said to me, "Let us go home together."
A. He proposed to me to go home togcther
B. He asked me to go home with him
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71T
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C. A=1i-8j+2k D. A=2i—7j+2k
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A. 202 Hz B. 272 Hz.

C.275 Hz D.252 Hz
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A.32.38°C B.45.51°C
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C. He proposed to me that we should go home togeth 9

D. He requested to me go home with him o
22. He said, '"Who are you''?

A. He asked who I was B. He asked my name

C. He asked who I had been D. He asked who | were
Change the voice: (23-25) 4
23. Open the window.

A. The window must be opened

B. Let the window be opened

C. The window should be opened

D. Let the window be opened by you
24. Inform the police of the matter,

A. Let the matter by informed of

B. Let the matter be informed of the police

C. Let the police be informed to the matter

D. Let the police be informed of the matter
25. He lacks confidence,

A. Confidence is lacked by him

B. He is lacked of confidence

C. Confidence is lacked (o him

the police
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A. % (X1y1 - X2¥1) B. 3 (X1y2 + X2¥1)

C. ';_(XIYZ - X2¥1) D. (X1y2+X2y1)

20. CLIFTON =it waowen wHg W «3ft Ry toft vt
et | fRATeeee vewel B0 Ut TR FEIRHI 997 -

A.1/5 B.2/7 C.3/5 D.4/5
21. 4x° + 16%* - 9% - 36 = 0 TAFAT Y26 ToF @qisee =7
=0T PO TS
A.-2 B.-3 C.-4 D.-5
22. TTARATIG-
ATm . B.S¥Em C. foar D. SR
23. a6 Jren IFIL 5, wrme g (5,3); 97 & @i (3,2),
Rre TfREs 21 ok i vo 2
A. 445 B.343 C. 544 D.243

24. 3x%- 4y + 6x - 5 = 0 ~IIYTST BAFTH GATE @A 2

5
A |-1—= .(2,-
( , 3) B. (2,-5)

25. A  am:

C. (0,4) D.(8,-10)

®H  Wem W A=Ai-

B =2i+j- 3k tega 'f “twiw o1 2@
A. 15

3j+4k @
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Fill in the blmlks wnth approprmte word (1-12)
01. I waited for him ----- cight o'clock.
A. at B. for C. untl

D. by
02. A bird has to learn ---- its wings.

LOGIC+ LOGIC+ LOGIT+

A. using . B. for using C. touse D. how to
use
03. A rumour went that shee--e- at the examination.

A. has cheated
C. find cheating
04. A ficree battle----

B. had cheated
D. caught cheating

A. fought B. 1'ought there

C. going on D. is being fought
05. This is the baby---- cried for its mother.

A. who B. whom

C. which  D. none h
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Jeast one of the students-----full mark every time.

Q

8 06. ::t pet B. are getting C. gets D. have got
g H;: is an honest man. Here 'an horgest.man' is a/an-

§ g A Adverb phrase B. Ad_]?C'UVC phrase

4 C. Noun phrase D. 1.>art1.c1ple phrase
S 08. "To Daffodils" by Robert Herrick is a----

A novel B.flower C. poem D. song

g 09. The author of the poem "Ozymandias'' is a---

3 A. Wordsworth B. Shakespeare

g C. Eliot D. Shelley

% 10. The boy comes----- a noble family. .

5 A of B. from C. after D. in

? 11. Which is the largest river----Europe?

g A in B. of C. at D. by

g 12. He assured my----- safety.

¢ A. of B. with C. for D. at

§ Choose the correct sentence: (13-19)

+

2 13.

8" A. I shall avail this opportunity

¢ B. I shall avail myself of this opportunity

§ C. I will avail this opportunity

3 D. I would avail this opportunity

814

% A. I, youand he are guilty B. You, he and I are guilty
g C.-L, he and you are guilty - D. He, I and you are guilty
+ 15.

§ A. The small child does whatever his father was done

R B. The small child does whatever his father does

g C. The small child does whatever his father has done

? D. The small child does whatever his father did

9 16.

§ A. The man was tail who stole my bag

s B. The man stole my bag who was tall

8 C. The man who stole my bag was tall

g

81

-

¢

gl

+

§ i e . g i -_-j ._ ____________ A
: gg;_u.-'.—u—f.—u—‘j
§ Belies T Skm/h 8

12km/h Zr= TR @ IS 2
A 1lkmvh = B.13km/h . C. 15km/h D. S5km/h

+
Q
%02. 5 3t a3 Giw ¥ 36 km Ret 5% | @ft 4m IRT]
§ AT T2 I 07 QAo 2R P
7 A G2700N B.67500 N C. 62500 N D. 52500 N
9 03. T & waarsta ey TTof ot 2

Ak=E pgg 2o g P p 2

2m m 2 m

£

m
« ST ACITF G TaF ARSI o1g Ao
A.K.E:%xmﬁxﬁ\@ B. K_E:%xm'ﬁ;

5 .
C.KE= Exmfﬁ*lﬁ; D. K.E:%xwﬁ‘fﬁi
- T OIS (TR O el AT WA TS CATS T ity

A 2s B. 1s C. 1.5s D. 0.5s
06. w3 v oo et 2
= A. Nm™ B. Nm C. Nm? D. N'm

* 10A - 220 V fife fiSrem 15 amp - 220 volt BfFw

::::Im 100 wxitey 3 @ e Ft=q T Iat
?

A 24% B. 33%® C. 13% D. 29%
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& D. The man who stole my bag is tall 7
- would you please don't worry?
would you please not worry?

Please don't not worry
- would you please not to worry?
18. Choose the word which ig

""enormous''.

A. soft B. avarge
19.

A. He was hung for murder

B. He was hanging for murder

C. He was hanged for murder

D. He has been hung for murder
20. What is the antonym of " Jolly"'?

oQwp

the exact opposite of

C. tiny D. weak

A. glad B. cheerful C. depressed D. chance
21. Synonym of '""Competent" is- X .

A. force B. able :

C. delight D. complementation
22. Synonym of the word ''Public"

A. autonomous B. private .

C. government D. people
23. What is the antonym of ""Xerox''?

A. photocopy B. original

C. common D. rear
24. The synonym of '"Amazing'"' is -

A. small  B. irregular C. crazy D. incredible

25. The correct meaning of the word "'Deliberate'’ is-
A. known B. international C. familiar _‘_Q;_Fv!i_gi’x_lgly
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et PR CotTBE 20V T, GTT &R I I, Afa 741

A. 4A B.2A C. 5A D. 3A
09. 6 Aty fReeE efoEE 2 T @7 PEew Rpfe @
IS?
A. 60° B. 15°
C. 30° D.45° g

gz o
10. mwmwwnmwwwwmuﬁ
?ﬂamﬂ;ﬁﬁﬂ,mtﬂm&aﬂﬁma«dﬂm
SIw TR Ay fRed ot 7
A. 2T I A B. & foqed T
C. ¥ fasd =3 D. & (e T
11. wﬁwﬁﬁmwuﬁmﬂmmmﬁwﬁﬁm_
wwmmw%%mwmtﬁm

LOGIC#+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LoGIC+Lebt
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A. 3% = B. wefiaf¥s e
C. TS AT D. 1 T
12, o co¥n A = 3.0i - 3.0] wae B = 5.00+5.0] 4 WO 7t

g
g
E
o 30 C. 45° §
A. GO° B. 30° by :
FaRT @3S 100 2
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4. Fvs R g offm g FED GxiB O ANYeY A ?
A. Joul / Sec B. (Amp)Volt
C. (Amp*)(Q)

' 15.

; lnﬁwmaﬁmaﬁsﬁ6Jﬂmc*ﬂ‘f
S ;fsﬁtwhrsﬁrawwmwr

S A.GJ B.36Js! C. GW D. 36 W

21 mﬁmﬂwwaﬁmmwsmmmmmm
] 3/2 iy FTeATE <HifE efeTEE T

§ A.2/3 B. 4/5 C. 4/3 D. 3/4

517. aafs I @it FEferstEd B = 100 @3 Iy = 50 PA T O
Q-

§ A. 1.01 B. 0.99 C. 1.00 D. 1.10

3 18. i sitela B @IS -

s A. wo@ o B.wers @ C. T D. WIGE T

19. RIS SR - 9 CFW @A AT )
A.L=7p B.L=pxt C. L=txp D. L=prf

20. fefama et (Nuclear Fission) @ Seoig =f&w wiftn-

§ A.20MeV B.200MeV C. 200eV  D. 20eV

7 21. RfFe 3@ w@ead 500-575 nm 7o Rfvmwas 3 x:-

§ A. @eH B. g C. = D. i

5 22, oo @i el mmmﬁamﬁr@mﬁe

§ wirerER AREST 7w

% A. Freidi  B. I C. "meEss D, oA

§23. ﬁmwmmmmﬁmﬁm

n A TS T B. Sfe padtm <@

g C. 3= fefgn 1 D. &= fefen a=

%24. TSI Bt GO ATy NOFE 1Y d @3 Few Ay Vo

g ¥ QT qFfe Ry et i wfw 8wt frqre At

o TW OF STEBR B feramiier R ofe 3w T vo 2

9 A.2VQ/d B.VQ/d C. VQ/2d D. dQ/wv

§ 25. G T T FST TH (OR TS “ATR | EHHA A 4 ot

& o T Tt T =R TR ST ToR TRCS A2

€ A1

&

3

-

3

B.9 C. 38
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D. 16
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- C. IriifSe ot D. =g 77

€ 02. §° O™ Wi Frg ITeads-

P A. 16/ B. 8f%

g C.10® D. 14%

+

Q

"B’l?
A.n=3,122, m= 2, s= I/

C n—3 1—2, m—‘ 0, S= 1/2
I QoS

B.n=3,1=3, m=0, s= 1%
D. n—g, 1=2, m= 11 s=Y2

T Cof W
g. B B. 7R
- HoS D. NH,CI
05. sp ZIREGRTer ™ 777 it 73~
A. 90° B. 120°
C. 180° D. @a3g o
06. ) i

=% Treem H3tt Ba(NO,), 53

T T FHR AT A wygowe
et Toiter ot =g HCl
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07.

08. vxtt afo-
A. 7@ B. T C. TS ST
09. STt o1 e ffdre St "‘ﬁwmﬁﬂ’ TR Mg
Berm- ARTT T 1 - FT A | ;
A. R B. 1 SAw
C. 7 faferes D. enafiw Gferges
10. ot RfiFan Rferres e Bettrm Grrer stedit T 7 K o
P F-
A.molL" B.mol'L C. moll.  D. a3 sy
11. ot Beoimar fAfemr eafes-
A. AH=+ve B.oi7 it C. H>H; D. w55 a3
12. TR TR AT LT I2 ‘
A. SO, B.H,S C. HCI D. SO,
13. JCEeT, BiefR 8 SpiTstsitgt 9@ AT WIeH 97Yg-
A. d=FM vgugeBL s M _ PT,
PT PM RM
14. 15.00 st CO, it o6 T [l =g ?
A. 6.6x10%2 B B. 6.84x10%f%
C. 6.6x10%f®% D. 2.05x10%®%
15. T 49 E< At §3rge wiEreea Affwtdzm swr

16.

17.

18.

19.

20.

21.

22,
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. STIeTEt et qeer-

. freen cots REFND Na® s ==iessest ga T

srﬁt@ W A @'ﬁﬁﬂﬁ?r

A. Cb3(‘OOH>CCIqCOOH>CH§12COOH

B. CClL,COOH>CH,CICOOH>CF;COOH

C. CH,CICOOH>CF3;-COOH>CCI;COOH .
D. CClLLCOOH>CF;-COOH>CH,CICO

1IC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGICY l.oalcd-mn'q

A. TR IS B. &4 ya<
C. ouiHy 735 D. Tt S jue

S[ea =i et UV 3t ciee 31 @ ie weeey

A. Jeafram B oiwiFeae C. mionfama D, achfem
HL(OH)C - C = CH,(OH) @« IUPAC Fiw?

A. {85-2-%137-1,4-©1% W@ B. &A85-2-37-1,4-w73 =

C. {S5-2-qm=2-1 4% D. 2-[{%%a-1,4-w1% @@

= Wit ErEre 4 Qv T Tte

A. @& B. fREe @@ e
C. ~iagig= D. fifafen

I GRS SniTetes o+ et o e

A. CH;COCl

B. CH;CH(OH)CH;
C. CH;COCH; D. CH;CH,OH

CH,CH,CI+KOH(ale) — A (gut Bestt); A
TS -

A. (,H3CH20H B. HzCECHz

C. (CH;CH,),0 D. CH;-CH;
2MnOy + 16H"+ne’—2Mn>* +8H,0 ffeFain-
1. Min 991 &9 <@g + 7 190 + 2 1o e =
ii. Mn™, 5% 3wgm azd w@

iii. n @3 W= 10.

<

fea e witdwe

A.ieii B.igiii C. iisiii D. i,iisiii
wmﬁawmﬂﬁwam‘twwr

AR B. sfrs Y wd

C. HCl Rf¥re =if D. amwizs

A.He #m@iq B.He'wre €. He™ wma D, D' wmd
5 T S TetiB sTedt- \
A. o6 B.8% . C. 10® D. 18%

A. Na*+CI'—NaCl
B. 2NXI++K2HzS'32()7‘—’N321’{QS bg()-]
G Nd + thOg—)Nﬂa(QO)A;

o
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o1 kaacwwmwm y+1 0x-3y+5 0 @ 3y =
kx + 4 STECEaE TR W12

A% B.-2 G2 D. 4
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A. 5 B.E C. > ~ D. >
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A J— B. % D. =
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@ AT O TR AR W A =1 e

A.a=90° B.a=180° C. a=0° D. a=120°

. @ fagrem o e Reqges sormem R sy s
e 3o ferarNeT | B Ieeas wid i fReqrs fmdter zga?
ATRM  B.ww:@m C. ey D. sa=g

. 1% ax” + bx + ¢ = 0 W RFAET b? - 4ac iRt T e
b’ - 4ac # 0 SR FRNBT To7 23-

A. TBI 8 T B. wfoe @ s

C. TTW 8 D. ™ 8 o

=
N

[—]
@

C. e

<

(=3
W

&

07. a 9 TN TS TA %i+§}+aﬁw§aﬁ_a¢ﬁ GTT (8T TI-

Jis 7 V23

B.+ — C. += D. +—
6 6

08. 6 = I U 5w IFEFR @B W@ e @ Beitew 3 v

I @R, 2 O TR @B W Ao T @Y A

A. 10 B. 20 C. 50 D. 200
09, =sinx+c2sx iy_:

\/1+sixfzxwr dx

A.2sin2x B.O

C1 D. cos 2x
10. ABCRrgtta:b:c=3:7:5z1 LB =
A. 60° B. 30° C. 90° D.
1L lim x2 4 6x
Xx—>w02x*+5

A0

A.+~%
3

C+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC4 LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOG]C+ LOGIC+ LO¢

+ LOGIC+ LOGI

120°

=?

B 2 c. * D1
2 2 2 2
12. 4x +9y” = 36 Toj3E T WRE (W CFAFA FO?

A. 813 a B. 2n3f u3s
C. 6n3f azss D. 12n3f a3
13. y = 3x + 7 @ 3y - x = 8 RenEGE O TGS

TR N o

A tan? [2 a1 1
tan (3)B.tan (2] C. tan"(1)

"(3)
tan " | —
4
14. lim Si.n.xz

x>0 x

Al B.-1 C. 0 D. 2
I5. a=i+2j+k @ b=3i+j-4k 4 covw = =,
|2§—3El =J35?

A V114  B.J246 C. Ji10 D. /240
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16. secQ = —m c6sech D,

A — B. i —v’ﬁ '
Jz9 B 08 s D, 3
17. y=1  dy e
. Yy=x(@3- - =

y (3-x%) @7 (lx Omxmmwf

A('ll B.-1 C. +1 D. 0
18. ——{(+7) (-7} =2

dx %

) .
A 4x B. 4x C. 33 B

X
19. f(x) = x—_z—u‘mx;&2mf" (2) 93 717 7wy

N bx d
20. y=tan? 210X o BY i
b_ax Ll dx Q?IWW
&, =t B _ax’
1+x2 " b2+aZx?
1
C. D. tanx
XCOSX
1 2
21.A=(3 4)mA2+3A-1o=?

|
—_

aloo) 25 a) o (o) »(5 )

22. T fega SIS g (-1, /3 ) 7o Reafoa cotrerts g

IT?
A. (3,60) B.(2,120°) C. (2,110°) D. (2,60°)
23. x* +y - 24x + 10y = 10 3087 7
A. 12 B.15 C. 14 D. 13
24. 14 &= GTR G379 LS 5 O IR A I35 v eofi w3t
qR?
A. 4000 B. 4002 C. 2002 D. 2000
2
25. nff cos A = iw,m wmmwr
¢ 5 1-tan?A

7. 25 15 b 3
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Choose the correct u“"slatlon (1 6)
01. J3PT (AT oS o 38 2R |
A. It has been raining little since morning
B. It is raining little sitice morning
C. It has been drizzling litile since morning
D. It has been drizzling since morning
02. Wt SR RS (et FRTS W |
A. I want to see him B. Iam to see him
C. I wanted to see him D. Ishall see him
qP qt
. ‘rﬁl am a cog::ncr B. Iaman cxam?nec
C. I am aexaminee D. I am an examiner

04. @ *={5 Fifout wre |
A. Pen through of the sentenc
B. Cut this word
C. Please cut this word
D. Pen through this word

]: i
A
LodicF
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§05.mmmu

A. The time end B. Time is end
C. The time is over D. Time is over
06. %= W Ao |
A. Itis deep night now  B. Here it is very late night
C. Now many nights D. Itis very late at night

t the correct sentence (7-10)
. This is a very unique opportunity
This very unique opportunity

This a very unique opportunity

. This is a unique opportunity

. Tam not on the committee

I am not in the committee

I am not at the committee

I am not to the committee

. Can you tell me what his name is?

7
g

el

S

SOEFrUOA®ER

08.
!

- Can you tell me what is his name?
Can you speak me what is him name?
- What is name is can you tell me?

He shouted in the top of his voice

He shouted with the top of his voice
He shouted on the top of his voice

- He shouted at the top of his voice
Select the synonym (11-19)

09.

10

TomrTOAER

3
g
s
g
$
g
&
8
3
g
v
g
3
;
3
3
g
3
g
&
g

11. Unruly
3 A. Free B. Obedient
'§‘ C. Disobedient D. Compliant
+ 12. Isolation
(’SJ A. solution B. separation
I C. Identification D. Loneliness
g 13. Cordial
% A. congenial B. antagonistic
8 C. Unfriendly D. aggressive
S 14. Counsel
3 A. cabinet B.meeting C. advice D. trade
& Select the Antonym (15)
¢ 15. Lure
g A. Disgust B. Attract C. Allurement D. Seduction
¢ 16. Which of the following sentence is simple?
g A. Being very sorry Rina left for home early
5 B. Rina was sorry and left for home very early
g’ C. Rina left home very early because he was sorTy
= D. Being Rina feel sorry and she Ieft home ecarly
|8

17. Which of the following sentence is a compound?
A. Both Rinky and Reshma like tea
B. Rinky like tea, Reshma like tea

»»»»»»»» ..r‘... B PSSR 1
_ T 2 a
Aa= — B. a=r‘q C.a=ra D.

a= —

(04 r
02. RIT PN R = 6.4x10° m G = 6.7x 101 TR T
TR WEFHT g1 g = 9.81 ms? zry RIESERIA R
A.5.44%10° kgm B. 5.46x10° kgm™
C.5.464x10° kgm™ D. 5.64x10° kgm
03. 15 ¢ Rewm sttt =nf i 1.

A.90° B. 0° C. 100° D. 140°

04. 93 =g a3 eirs QT 936 w3t Frod vt zo i
TG
A RS o g1 B. 303 sl 71
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3
+
Q
<]
]
+
2
g
+
g
3
+
2
8
+
2
+
<
Q
3
+
g
-1
+
S
g

[+

C. Rinky like tea also Reshma
D. Rinky and Reshma like tea
18. 'Every mother loves her child.' The negative form is-
A. There is no mother but loves her child
B. Who does not loves her child
C. (a+b) D. None
19. Choose the incorrect sentence:
A. Who is the best of the two boys?
B. Who is the best among these boys?
C. Who is the best among the three boys?
D. Who is the best boy of this group? :
20. 'It is certain that he will come'. The simple form is.
A. He will certainly come
B. There is a certainly in his coming
C. He will come certainly N
D. His coming is more than certain
21. He is very weak and can not walk. Make i
sentence.
A. Heis very weak to walk
B. He is so weak to walk
C. He is much weak to walk
D. He is too weak to walk
22.1 went back to work closing the door. Make it
compound sentence.
A. T went back to work after closing the door
B. Iclosed the door and went back to work
C. After closing the door I went back to work
D. None of this
23. Fire burns. What kind of verb is 'burns'?
A. intransitive verb B. transitive verb
C. causative verb D. copulative verb
24. 'Shakespeare's comedies are-
A. As you like it, Taming of he shrew
B. King lear, king john '
C. Hamlet, Twelfth Night
D. The Tempest, Macbeth
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25. Identify the sentence with adjective clause.
A.-Ikilow what he said

B. He is the boy who come here yesterday
C. The rumor, that she died, is not true

C. 14 v 3o D. 1.4 @9 331
05. @36 Tarwster Atodes stowmm Row o Wiy A
ST O (T AT AR =R Y AR AT
A.50% B. 75% C. 71% D. 80% &

06. > witam T aﬁmmlamm@“i’"“i;g
TR TTCIT WIS 421 Srre 7R eiess e el §
IS g
A.9:1 B. 16:1 C. 11:14 D.41 - 4

07. IET €T weorg o, etan T Wet @i GIvE K
TN ARew T v W ﬂﬁw@‘mwmwﬁmg
ST qTB Wit [ AT Y *5’
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¢
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dos gqafs s 8 e AN A wASt IAEE 5D 8 3D
§ o T T g 92
9 A55cm B.53cm

g mﬁuﬂm awr.wti 9T Fe
09 -1 -1

5 Am’ B. cm C.s D. year
g 10. T TS AT (Simple harmonic oscillation) «
5 et AR @7 T -

§ Az« g (Acceleration) S =
+

9

§

¢

&

+

+

C.52cm D. 50 cm

B.T3q 7R ECIGEAET
C. 747 7=t (Displacement) 3455 29
DR GAVEL s ="
11. fi@ TI0R (standing waves) TFGR 77 At w1t
m-
A B. M4 C. M2 D. 21
12. «wf e e oFw@ C/C, = x <01 ftsa @i oS w
Gt & AT 2
A.C,=x-DR B. C=R/(x-1)
C.C,=R/(1-x) D. C=R/(1+x) :
13. @ T Co-60 TOEHM *Wda =Y 5 27 | T© ILF T @

coEaT Wit TuFTSt I At wwyE 1/32 S g
A?
A.10 years B. 16 years C. 25 years
14. g}l T 3 5 @ba av w3 e
A.(velocity)® B. (velocity)
C. 1/velocity D. 1(velocity)?
15, TET (RIFAT 9T SR B TF IEA @ GOEa

AfereT AT T 16m @ @R &S 2sec 7 47 9B ©©
R | (GO (XN TS 2

A8ms’ B.16ms' C.32ms’ D. 64 ms™
16. a=fs 3 u REfF 4R« ww w@w 4 Pa fefrue g
IE 19 YR e B[ e 3fH Fsfo zme
A.cand " B. ccand y C. B and D. B and y
17. m SEw @3 W r VOME EFE MY TS SR |
O <ifS7 e T 337 89w rua S Tvm 91 +o7

D. 32 years
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AdT ;nr el : 4““; D. ume?
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18. @36 wgre w=ww w4 (TF I8 cm A G T @
TFIFT g I 7o 5 ot RafEe ofofm wnent 7tz
Ai8cm B. 15cm C.25cm D. 23 cm
7 19, o3 = AT T RAS T @A AT
O
g Ac B. 2¢ c. L D. =
t\ € 2
320- SR -7 wifHEn-
s AEs= 2*a’fp B. E = 2na’*f’p?
g CE=2r%%p D. E =2ma’f’p
821 WWﬁquammmﬁmwm-
g A s B. wom AfFfe C. [affs D. wers =fie
§22. a—1+2_]+k qR b= %1+J 4k 4t co3m R T,
§ l2a-3b| =Ty
+
9
8 AVI4 B 276 C. J110 D. 4240
$ 2. Wit et aee ST AT w9 B A 7ed
§ ARy slommr a3z W B. 5T g o 20 T
3 C.aeb ooz zm D. @EihE
?,2“ %Wwﬁmmcm o 34 oo g fosa e Ofse
Q ?
§  Ataldw s i g B. St % o
I C.mmiefim stean gf sirm D, FRG vieayt 3 =i
§ 25. LT 50 C 51ef 775 2 m TG @ RrITT e, e Ty
$ A1225%10" NC! B. 11.25x10'° NC"'
§  C.13.25x10'° NC* D. 10.25x10' NC!
o
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04.
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07.
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15.
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-»«u-‘&n&t&um»,—m%puq“ foatt an g
- A&AM

Tt eFs w3t T

ttfbm

A.Acetadehyde
B.Grignard reagent
C.Fehling solution
D.Schiff's base
@ CI' 97 wiRwngwgia,
A.8* B. P* C. K
CO, CN’ @3t N, efenf g geor-
A.Inorganic species
C.Isoelectronic

D. All

B. Having co-ordinate bond
D. Having polar bond

it At @ afre TR 9t Ty

A. I'INO:; B. H2$O4 C. HzSO4 D. All of these
et ofSe T I <He

A.HNO, B. HNO, C. H,SO, D. All of these

The mixture of 1.5% TiO, and 98% Al,O; is called-
A.Ruby stone B. Sapphire stone
C.Diamond D. None of these

0°C si¥wiaiy 9 W™ wiwes 273 cc | i@ st 20°C
SHEATAT @ SR ST IS 7

A.283cc B.274cc C. 20 cmm D. 293 cc
o ey &= 139 za?

A.BI'Q B. CO (C: Nzo D. C12
NTP -t 2240 mL CO, TR % 335?

A40¢g B.44¢g C.88¢g D.8.0¢g

PCl; u7 vTitet @Feenfie afices Rfdrms et f6e
A.Benzoyl Chloride B. Benzyl Chloride
C.Chlorobenzoic D. Chlorobenzene
eiv-2gfes SR e

A.DNA B. RNA

C.Both of A and B D. None of these
T HIER T Ta A3 @ 73
AN, B. CH, C. NH; D. CO,
A.2H, + O, — 2H,0 B. Zn + 2HC1 — ZnCl, + H,
C.N, + 3H, — 2NH; D. 2CO + O, — 2CO,
T T g WEitE wdi-

A.Negative B. Zero C. Positive D. Infinity
0.56 . e N, SeR e w?

A.1.5x10° RT B. 2.0x10° RT
C.3.0x10° RT D. 1.0x10> RT

1 i TG TG~ TR ?

A.5.0183%10% B. 6.023%x10%
C.5.02x10"® D. 6.023
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NTP t= 11.2 1w gue 8 WEeH m*nvmmwr
A.3.01x10% B. 6. ()”xl():'

C.9.03x10% D. 1.20x10™

Fate Mg/Mg? (B = + 2.36) 4% s g
WITTeR IR Jq AL o

A.Zn/Zn* (B =+0.76) B, Co/Ca’ (E’= +2.87)
C.AP* / AI(E® = +1.66)  D. Co/Co™(E" = +0.zs§)

C(s) + O,(g) < COxR): Al <> - 94 keal mol” T O
U YOO IS T )

A.+94Kkc: almol™ B. >+94kcalmol i

C. +47lu..1lmol D. Zero

S geem 1 kilomole a0 grIwww 2000 kg ™ Ty ww
gt tof zt et | gt crenifefe vv 73
A.2m B.1m C.0.5m

o
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21, a3 wWert Gt erenizter  RfirEm woibmEibaRe
SIS i | S At @ 7 e

A.2-Frnzafeita-2 B. tf5a-2

C. 1-Rigeeaf-3 D. fTeB+-2

22, IRGE IR T AR Ty I e T @t A 2
A.Nay[Fe(NOS)(CNs] B. Fe[(NO)(H,0)s]1SO4
C.[Fe(NO)(NH3)5]SO;  D. Na,[Fe(CN)sNO]

23. IFTHEFSIE TS T -

A.Nast4 B. CaSO4.H20
C.MgSO, D. CuS,
24. et e I cowiER R SR el RS <y
AP-32 B.Co-60 C.1-131 D.C- 14
25. SOTPTCRFIRICE AT IASITT @ freet i st Beoty =2
_C.tRafe  D. 3

A

‘B »aﬁ:‘ﬁ'

JICY LUUIL T LUUILT LUUIL T LV T AR T e

§ - SOt b ‘fx ~ oy ¥ 2 e ., FRAm R
: DN SR et <
§01 il § s 8 y @7 W
0L 15 )= ls TIXCy I H To?

Q

§ A.-3,8 .-8,3 C.8,-3 D. 3, -8

3 02. ﬁqmﬁw%‘ﬁ#ﬁ?am (3,5), (-3,3) @3e (-1,-1) T=
8 frgefa crares 3w _

+ A.12 B. 14 C. 16 D. 18

gm mmsovnmﬁrmmwﬁwwﬁmﬂnm
n T 1 eI e qenta St s,

§ A2 B > B D i

3 11 11 5

304. ¥ = mX + ¢ WIS x*+y’*=a’ WWWW@?

% A.c=a y1+m? B.c=-a \/_+rn2

S Cc=+a \/1_-:m_ D. 51 3963

g 05. Fferm Arttaiifit = ey "Daughter" ==foq wrEaurai
Y O RYS A et Ty

§ A.40320 B. 4320 C. 36000 D. 44640
:06 lim

$ 06. 97 i TS

§ X—o00 2x+1

: A.1/3 B. 1/4 C. 12 D. 372

507. 0,1,2,3,4 &7 iRreay o werern B Stedyt ty= <ot w2

x A.98 B. 48 C. 60 D. 96

gﬂs. cos = 1/5 g, tan® @ «x T ZgeTI-

g A.25 B. 24 C. 23 D. 22

§09. cos‘0°+cos210°+cos220°+ ...... +¢0s%90° @7 TH-

* A.6 B.3 C.5 D. 4

g 10. <= fargrern TrmereTs tadr Teitac 3,5,7 =i.f. =z fagwf
5 = @

§ AR B.ypm@ C. ki D. fRawarg

+ 11. f(x) = VJ4-x2 TR (OIS '8 (AW -

g A.[4,4) s [0,2] B. [-2,2] 8 [0,4]

$ C.[-2,2]1s [0, 1] D. [2,2] 8 [0,2]

g 12. 4+11Wﬁ<wmwemm%ﬁ¢fww |

+ a3

O A(Stanl ] B(Stan“4

g 4 3

3 -3

g C. [5,&1!1_1 T) D. None

+

‘§13. 9x2-12x+4=0ﬁmwwﬁmwma,ﬂmwm
T T (a: B)

‘§’ A4:9 B.3:2 C.1:1 D.4:3

)

b

11
14. (2,‘ :,21_) aaﬁwgmx I -
X

81 21

A.231 B. —= Ly . 230
8
15: aﬁﬁﬁmqﬁmmamwmqﬁam
T 933 Wi SItHe oifea oreteiz-
AR B. s C. =6 D. 3w
16. uwtft @t 4oT Fifed Tgwtn e Swot zre
2
A s c 2 p, 1
2g g g g

2
-3x, x>2
17. Wf =" °
' Xx+2, x<2

A.0 B.2
C.2 D. None of these

18. (14) ¢ (9,12) Repaeas viecates et 1 e 3 ; 5 sitre
wieE W, OIF giiE- T
A.(74) B. 4,7) C. (5,8

19. y*=16x @iy = 4x*:mwmiwmcwm

W f(2) +£(-2) 97 1 zra.
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D. (8,5)
2 & . . 1

A. —unit® B. é-—umt2 C. —umr;2 D. —unit?
3 3 2 3

20. cotA = %m SinA + cosA 93 TIF FB2

IC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+

1 : .
ol - el . 13
L7/ 13 13 17
21.y=3x+7m<3y-x=8mmmmw{s
THFTA 9 97
A.tan! [i) B. tan™ (1)
3 2
C.tan! [€)) D. tan’! (ij
4

22. @3S siif§ =t (uniform acceleration) @ 30 km/hour &

= | o gae (atcolnratlon) FS?
A8km/h® B. 800 km/h? C. 16kem/h? 1. 80 kny/h
23. A 99 I WEE @ 4i + 2§ — 3k @3¢ A — 3+ 2k worm
AT 7R (Perpendicular) 3z3?
AA=2 B.A=3 C.A=2
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D.A=4

24. X QAN IS A y = x (12-2x)° T G A2
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Choose the correct translntlon (1 6)

01. vrter it ofy oS 3fB =<ose |
A. It has been raining little since morning
B. It is raining little since morning _
C. It has been drizzling little since morning
D. It has been drizzling since morning

02. it g #Es ot e 2w |

B. I am to see him

A.TI want to see him .
D. I shall see him

C. I wanted to see him
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g 03. w (S aF& *Rrwidt | 16. Which LOG[C+LOGIC+L0GIC+LOGIC+LOGIC+LO e
A.1am a examiner B. I'am an examinee 0 e of the following sentence js 5 ST
_ C.Iamaexaminee -  D.Iamanexaminer - i Bgmg very sorry Rina left forel i
el e v B. Rina was sorry and Jef; piei ome early -
. l [[ 3 se i A IOmc >
A. Pen through of the sentene g E::l:;lglcll{t ho?]" very early bccauscv;lc':y;::lg
5 q ; 1na feel sorr e OrLy
B. Cut this wor 17. Which of the followiny and she left home early

C. Please cut this word

A. . =
D. Pen through this word Both Rinky and Reshma like teq

B. Rinky like tea, Reshma like tea

C+ LOGIC+ LOGIC+ LOGIC+ LOGIC + LOGIC+ LOGIC+1L0G!

5. AT (Y LACR | C. Ri ike te
A. The time end ‘ B. Time is end D. RE:E; :11:5 ;{58;\115(.) 11{'CShmil
C. The time is over D. Time is over 18. 'Every mother | ma like tea
06. 93 SAS A | ‘ A. There is no mg:;f:rl;)el; Thlm.’ The negative form is-
A. Tt is deep night now B. Here it is very late night B. Who does not loves l:lcr ‘c)zclz her child
C. Now many nights D. It is very late at night C. (at+b) Dl N
¢ Select the correct sentence (7-10) ' ' 19. Choose the incorrect scntcn;:c-onc
g 07. . . - ' A. Who is the best of the two bc;ys?
3 A. Th%s is a very unique oppo%'tunny B. Who is the best among these boys?
8 B. This very unique opportunity C. Who is the best among the three boys?
¥ C. This a very unique opportunity D. Who is the best boy of this group? .
g D. This is a unique opportunity 20. 'It is certain that he will come'. The simple form is-
n 08. A. He will certainly come ’
¢ A.lamnoton the committee B. There is a certainly in his coming
‘:’z B. I am not in the committee C. He will come certainly
¢ C.lamnot at the committee D. His coming is more than certain
¢  D.Ilamnot to the committee 21. He is very weak and can not walk. Make it simple
g 09. sentence.
§ A. Can you tell me what his name is? . A. He is very weak to walk
+  B. Can you tell me what is his name? B. He is so weak to walk
g C. Can you speak me what is him name? ; C. He is much weak to walk
3 . What is name is can you tell me? D. He is too weak to walk
g 10. 22.1 went back to work closing the door. Make it
. A. He shouted in the top of his voice | compound sentence.
g B. He shouted with the top of his voice A. T went back to work after closing the door
% C. He shouted on the top of his voice B. I closed the door and went back to work
o D. He shouted at the top of his voice C. After closing the door I went back to work
§ Select the synonym (11-14) D. None of this
¢ 11. Unruly 23. Fire burns. What kind of verb is 'burns'?
§ A. Free B. Obedient A. intrans:itivc verb B. transiti‘{c verb
$ C. Disobedient D. Compliant C. causative verb ) D. copulative verb
§ 12. Isolation 24. 'Shakespegre'g come(_lles are-
: A. solution B. separation A. A_s you like it, ’I_‘ammg of he shrew
¢ C.Identification D. Loneliness B. King lear, king john
n C. Hamlet, Twelfth Night
§ 13. Cordial D. Thf: Tempest, Macbet.h pie
. A. congenial B. antagonistic 25. Identify the sentence with adjective clause.
pg C. Unfriendly D. aggressive A. 1 know what he said .
14. Counsel  B. He is the boy who come h.cre yesterday
% A.cabinet B. meeting C. advice D. trade C. The rumor, that she died, is not true
3 Select the Antonym (15)
$ 15. Lure

A.Disgust B. Attract  C. Allurement D. Seduction

LOGIC#+ LOGIC+ LOGIC+ LOGIC+ 3 :
LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC + LOGIC+ LOGIC+ LOGIC+ LOGIC + LOGIC+ LOGIC+ LOGIC+ LOGIC+LOGIC @

B =5 AT e
o N2
ey e A e e S o e 15 SRS O PR ey ]
o TN (OB (ATF 39 g it T wwt AT AT .
3;? =3 TS T AR A.Emwﬂn"'”-”"m"m““‘f;
o Tpiel WYl S
Oz5.-3 ° .90° B. Sy Aed 36.7°® )
.A. 0° B. 90 » C. 180 p 9 5 @Wmmss.m"mmmmw
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D. ToRa St 3.76° T ’ISt 430 I
4g =7 RfE 0= g 1.5 m A TR TRICT JBIFE L

03.
mmlw5sazomﬁWW|mmﬁ‘fn
1
A.38N B.3.05sN C.08N D.1.8N

04. 30 kgmaﬁm%ﬂwmmﬂw1ﬁxﬁﬁw

@ 36kmh™ & AT |
A.505N B.5N C.15N D.6N
14 g SR @S ARCEEE @ 3.6 ms” Tt 0.21 m 7 93
FiTr S T (OF TS AN | Y FIFFRA 0 AT FO7
A.-0.432N B.0432N C.-042N D.-0.32N
. IO oA e ARRRE e Wi w7, @
T3-
A. a3 pgdied B, Wds C. faga D. vRed
8 TACIA THIIS (T TS T I 47T AP
A. 90° B. 120° C. 180° D. 60°
o 8 RAT FFLT IPMER WS 54 ¢ 75 @3 ffadies
365 T I T=T T VLS AF TRA TA-
A.223fm B.22fw  C.23faw D. 253 fa=
25 N 31 917t @it e Gt 10em 3F T3 =een 1 97 ek
HFIT TO?
A.22.5cm™ B. 250 Nem C. 2.5 Nm D.250 Nm™
S ARG SIad Y ST T I 93 Boi7 g 517
4 o I At T | T I IO AR 1wy
A.7 a4 B. 3 &4 C. 2 ad D.1 &9
ReaIN AT TN AHOIET AT 6 @D 2
AwE B. =1 C. ASo-fom D, =iyt
. 9B FEMTS 0.1s - @ RAge erETiat 10 A TSZET e 2A
W T e Wik [Rge s =% 320 volt 2w &7 I
wiH edtE T 92
A.2H B.4H C.3H D.7H
13. 20 cm THFIF FH0GT 96 TG G157 QIR Ty GF{6 ST @79
TR 15 T T | ANGEy e FAet 3 D 70, W{ww
TR CFRT g 30?2
A.-05m . B.0.6Gm

14. w®eTge AfSoItaT 5 < iy S =@ ?

[
=)

S

=
a

s 8
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[uy
[
.

B

C.-04m D.1.5m

A.n) B. % C. (2n+1)% D. (n+1) %
15. @b GrferoTaa Sterat 3fF ot @3-

A wig e g B. W45 A9

C. urag 3% = D. 99T AW

16. FIR-AT AT qACR 9N GFC FAREEE NediwE @=ig
0.95 mA @32 AT &R 0.05 MA T AFTTT AR THH-
A.25mA B.20mA C.1.5mA D.1.0mA

17. <3 ¥ I6N (Integrated circuit) -5 fza @

TottenfS wesifye
A58 B.wme  C. @i D. SI@=is
d2
18. 3F§+27x=03ﬁwﬁ@¢ﬁwmwmﬁ?5ﬁ
AT St W AT g wioieg 71t 2
A. 2gR) B. (J2)gR C.gR D. 2,/(gR)

19. aq3f6 ofye Ruteem o ofRwwa, @y r @7 e Rreig

A wrr
;gﬁwx ﬁ;@[13,. e C.r D.r*
20. AT M A% [T |
e STt BT (AT yETH- S BTG
A. eSS B. 3vsfa Smigsiifem
C. IB~ifes D. vtz qergeifes
21. FH @it vgd AR ety g T Ty
A.5% B. 10% C. 20% D. 0%
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A.220Tk B.155Tk
a5 m SR G3R e WY AT 4=y TV R sty
e 9 T @R T @A IO

A. /Ze_v_ B. eV C. J_el D. 04
m m m m

16 Kg a7 @36 @t Rreifis gzn 4 Kg @ 12 Kg 93 9f5 vy

C. 105 Tk D. 93 Tk

¢
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8

:

24. i g

et | 12Kg O @5t 4ms” 9 o= R s ey 3

A.96] B.144]  C.288] D.192] §

25. Wmmw@%mﬁﬁcﬁqmmgm‘

e NS e kTS | ‘§.

A. Heisemberg B. Newton 3

C. Fresnel ________D.Huygens g
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01. fwsa qt @B w57 SnCl, + 2F,Cly = SnCl, +93
2Feclz

02.

04.

0s.

06.

07.

. o @ <wid Feo N T e

A. Sn e z@R B. Cl wiffs zracg

C. Fe wiffe =tz D. Cl [enfas =zt

s i GRS e e Ao FRee TRegt-Redfie o
ACCl, B.SnCl, C.SiCl, D. PbCl,

B. If®-=1% (Aqua regia)
D. HF

A.H,SO,

C. HCl

CCl, =iif3rs wgIqw &2
A. #if7 @ CCL, ®S@2 ¢orema

B. #fiff ¢ CCL, o2 ottt

C. =i ¢oirema fd@ CCl, wesirens

D. #iif§ ¢oremm fs® CCLy, toitera

Compressed Natural Gas (CNG) &9 &4i= GAivI ZeT-
AT B. A C. fSam D. RewA

RS 7 tew afre i

A. T30 afSre B. Wnifits afSe

C. weiforafie affte D. ~ifafos afe

0.2 M wiififts «fie qar 0.2 M wiifents wpifnss [
IFR G pH F° =2 [K, = 1.0x10°]
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A.25 B.5.0 C.75 D.10.0
08. 3@ Steiiaw @ 1 atm Bitst @1 FfE wwaa Wiy TTH §

wHeT 3.15 L 27 | @ wfdErem e stef 3% v 1.50 atm ¢

T X, S @ ST AT T T2 g

A.1.26L B.21L C.158L D.18L %
09. S Q¥ wifern wTRe Qe §

A.HCHO B. CH;CHO g

C. (CH;),CHO D. (CH;CH,),CHO g
10. 4.4g CO, @ TEF *RATIYR FeA- ‘

A.2.24x10% B. 2.24x10% §

C. 6.023%x10% D. 6.023x10% &
11. FFHATR 95% CaCO; WY | Q7 Cens wa sl Fo7 2

A.095M B.0.095M C.95M D.0.5M :
12. Tt r-Iweam TRt woft e §

A. 4 B. 6 C.5 D.3 :
13. Foa @i s Trte TR seise g

A. CO, B. N,0O C.CH, D.N; A
14. wfefie 4wy it fretw wfes syt zeen- g

A @ B.gIwe C. aRehtes DI g
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it SetwS ST R u il
e B. TR
D. e

1LOG!

T?& B. Mg** D. Si*

ﬁ-‘cnq ot R et eeterl, AH neutr, & Fw?
7 A_'(sto‘,(aq) + Ca (OH); (aq)— CaSOs(aq) + 2H,0(1)
B. H,SOs(aq)+2NH3(aq)—(NH4); SO4(aq)
C. HCl(aq)+"2 Ca(OH),(aq)— Y2 CaCly(aq)+H,0()
D. 2HCl(aq)+Y2 Ca(OH),(aq)—Y2 CaCly(aq)+2H,0()

18, Ry fifem o xR omt zom | o Rfawia fow zw
" i
A, 1.32 kJ mol”* B. 2.31 kJ mol™
C. 1,02 kI mol” D. 0.5x10 kJ mol™
19. ST T AFROTS FIZS -
A. B o7 B. freta smicnfeam
C. T D. wf¥e et

20. @3 @R AT CoHy, | @b stertrndfon s@ ate
72t de 1ee CH3;COCH,; T Qiisife s xe3-

A. CH;-CH=CH = CH(CH,),

B. CH;-CH,-CH=C(CH3),

C. CH3-CH2'CH=C(CH3)2

D. (CH3),C=C(CHz3),

21. 3@ ¢ HBr @3 W @17 g3 Rivwrat siwfos 272

A. 7o e B. afsgrom faftwa

C. feriagad D. iRt e
22, WBFIH G RN (IO 2

A.CH,=CH, B. CH,=CHCl

C. CE,=CF, D. C¢HsCH=CH),

23. 1-REBIRA a: 2-REB1ET g NfFmt @@= Rt
(IR0 A ?
A.Bry/CCl, B.H,/Pt C.L/KOH D. Cu®*/OH"
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5 A.2x3 B. 4x3 C. 3x2 D. seiesiis
§02. {1, 2) 8 (6, -3) RFaAN et (4, -1) TS @ TFATS
; Reswmwtfdfazn

§ A2:1 B.2:3 C.3:2 D.5:3

3 03.(1,2), (:3, 1), (-2, -2) Regeeent wrat e cvaf® -

§ A.wmerFa B.afewsa  C. §ifefiar D. s efiEe

s 04, X ey =2 + bf‘b:cﬂ'lambtﬂim AR a
8  (x-3)(x+2) x-3 x+2 '

z R b FIE-

g Aa=2 b=_5 B.a=4,b=-3

b 00-1a=-3,b.=4 D.a=4,b=-2

g > 0,1,2,3,4,5 wearent it wn wew R stedrt st 4 -
206 flx. 610 B. 600 C. 560 D. 500

g 10,2 Wizt sifyw fom wiea e s1edrt w2

; A.6 B. 4 C.18 D.27
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08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

23.

A.cot(®) B.cos(6/2) C.cot(0/2) D. sin(0/2)
tan™ 7 - tan™ %aa T FS7
A.sin?1  B.tan! 1 C. sin™ e D.cos™ 2,

' ' V3 V2 J2
WHfi® A (decimal number) 181 = fiff= (binary)
HAHETS e AT TH-

A. 10010111 B. 10101101
C. 11010011 D. 10110101
. a=2i+j-2k to8% TR b =5i - 3j+ 3k TSR B
= AR
A A A 1{.2 4 s
A. 2i+j-2k B. -6(21 -»-J—Zk)
C. 2i-j+2k D. 2i +j+K

lim 1+44x - s/l - 3x =7

x—>0 X
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P(6,8), Q (4,0) 932 R (0,0) NeRm1fafis firgrora cwarapor-

A. 32 Sq. units B. 16 Sq. units

C. 12 Sq. units D. 24 Sq. units

¢ o X

B B B=0,x=2

0 x 0
A.a,B,0 B.o0 C.B,0 D. o,

2 (secx + cosx) = 5 TRJATAA Ty YT F DG

o
A A3 B. g c. 3 1 g
2 "4 &
cot A - tan A 9iS- ! Pg
A.21an 2A B.2cot 2A C. 2 cos in? 5
-2imas‘f{qw7 cos” A D.2sin* A %
A.+(2-))  B.#(14) C. +(1+) D. +(1-2i) S
cot™! «/E-I-sin'lltﬂ’imwr E
V2 :

T T
A = , B ) ° s
" 5 C.n D.75 &
G eTF TR i Bwwny ot ot 7wy %

2 .

A M g usina owsing oy :
g g 28 2 :
2
g
4
g
4+
9
g
:

A.2nn+% B.2nn+§C.xn+—T—r- D.2nn+%

. 12
sin O = Fa?& 12t-< 0 < T T, cot B + cosec (-0) T W
TI?

A. = B. = C. K D =
3 3 3

4x* + 4y* + 12x - 8y - 11 = 0 &7 IFe 77

A.6 ) C.3 D. V6

3% + 7x - 2 = 0 ANFAC T G0BA T @ werwE R
IS? -

A. e D.-3
3

X' + y? - 2ax = 0 @3 FCENY @ cottorra e
Stk

A.r1 =2asin0

C. r =2acos0 sin0

B. 4 C.5
3

B. r =2acos0
D.r=acos0

T x = a (0-sinB) WAz y = a (1 - cosO) T B %=?
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§ 2 3 2 7 ] D. He asked his friend good bye to
Iy A. 7 B. 5 C. g D. 5 12. The antonym of the word ""famous" is- g
§ 2 ; A.opaque B.obscure C.illiterate  D.immatye ¢
3 1 13. What is the synonym of "dclude""? ® g
¥ 24. (x2—2+——-—) «F SeETERet x IfEfe Wmfsw Wi [ w9 ynony BAE= g
g x2 A.demand B. aggregateC. permit D. deceive B
% A. 926 B. 726 C. 924 D. 824 14. What is the synonym of "con''? g
§ 28: 7y =Gy SR SIS e v 15 g.hcgjflzi‘:'crt lllzr ;‘;lt:lljllj::nc grc:(l:ad thD ol g
. i

5 A2 B -Zuni?  C. 2 unit? D. %unil2 e St of C. ne .1(1: ’l’)ewsggglca ?
8 wommat - T '~»‘§"—"""'A;_.,:,a.“.‘2"’".‘ RS e R T 16. “wter 3 Stet, o1 5”2 Translate in English. §
QEIIIE:'::?-:[C:]:iE}I%:Eg:if‘s:‘_lf;_,'_ﬁ_',ﬁ_l_1"5_!_(1?_',_1’2_,'%_! A. Tt is very cold today, isn't it? N
ghyrintihaisdetmic it Loty oa hl) 3 ) B. Todag,Js yeayintes, loat ity :
b RN Y S D B T C. It's very cold today, does it? :
g :— —QQ ! D. It is very cold today, is it? ; §
S““"“" Iy ] B e e KT e R T R R O e ShG 17. She held the bag __, even though her arm hurt__ 2
g 01. ANTENNA : SIGNAL :: A. tight, badly B. tightly, bad g
Z A NET:FISH B. BREAD : FOOD C. tight, bad D. tightly, badly g
e C. STORY : REPORTER D. TV : SOUND 18. What is the antonym of 'cease'? §
% 02. What is the meaning of 'White Elephant' ' A. sure B. withdraw C. attractive  D. initiate §
g A. an Elephant of white color 19. What is the synonym of 'tiny'? 3
] B. a hoarder , A. huge B. microscopic g
3 C. a black marketer C. notorious D. weak &
§ D. a very costly possession 20. __ either my brother or my father responsible? g
$ 03. 'Through thick and thin' means- A.Ts B. Are C. have D. been Z
§ A. under all conditions B. to make thick and thin 21. Have you ___ your meal? g
& C. not clear understanding D. of great density A. taken B. eat C. had D. taste 5
g 04. Which is the correct spelling? 22. Which one of the following is the correct sentence? g
% A. Gratitous B. Gratuitious A. Is the room enough large for you? ny
§ C. Gratutius D. Gratuitous B. I only saw him once after that §
7 05. She ---- English literature for five years. C. He wrote his exercise carefully X
g A.studied B. learnt C. crammed  D. practiced D. Oui boys will be tomorrow here g
% 06. She loves ___ 23. Doctor advised the patient__ smoking. ?
0 A.Journey B. Trip C. Visit D. Travel A. giving up B. give up 4
§ 07. Because she has a reputation for __ we were C. gave up D. in giving up §
3 surprised and pleased when she greeted us so___. 24. A 'pilgrim' is a person who undertakes a journecy to
§ A. insolence, irately ~ B. arrogance, disdainfully a__ g
i+ C. insouciance, cordially D. querulous ness, afafbly A. Mosque B. new country b
8 08. Your ___ tactics may compel me to cancel the contract C. Holy place D. Bazar 8
+ as the job must be finished on time. 25. Choose the correct sentence. E
§ A. dilatory B. offensive C. repugnant  D. infamous A. Dr. M A Patwary is an Environmentalist g
7 09. GEOLOGY : SCIENCE :: B. Dr. M A Patwary is an Environmentalism 5
g A. THEORY : PRACTICE B. FIF : TREE C. Dr. M A Patwary is a Environmentalist g
? C. STAR : GALAXY  D.FASHION :STYLE. - ___D. Dr. M A Patwary is the Egylgq@r_xe_n_la_h_s[n_ Jriion RS
© 10. What is the meaning of 'Hole and Corner'? e e A e R ‘_____1___’,__‘__.:':_'
§  ACrack B. Franl% C.Foolish  D. Secrecy Fonke Bashn 1ol A e e e b ot i §
g 11. Chagge the speech - He said to his friend. "Good ::g: :ti: ;tl:sz::l)z : Elé_:iz_:: 2:0::}{ :: 2:1::}\: ::Z}ZFB::._ :’“§ E: ?::%‘::%ﬁé
] bye” ] TETE R e s e s e e R T +
& A. He bade his friend good bye 0
€ B. He said his friend good bye ?
+ C. He exclaimed his friend good bye E §
g e JS
& 8
g :
5 g
3 : 04. M SICGR (AT TC7 O 9 el TAGITT AR AT g
g i 5 : A. 3 wd AT B. 9 &1 I 3
501 ﬁmmwﬁmmumwﬁmm C. 3 99 TR D. weifiRf$s awa th)
& Ar20° MﬁB 160:rm 5T(’;F;:)f’ “méft Eh e A p ° ¥ g

. . . 4 q AT HFA S IO 2
%02. 1 @ I faateiem edwoms Iy | A.2:4 = B. 4:4 C. 12 D. 1:4 30 g
3 A 0% B.wom  C.wtms  D. 5 06. 9 TR @D ST S W weAff¥s @t T g
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: C+LOGYC"L016( +2

LOGIC+LOGIC+LOGIC+LOGIC+LOGIC + LOGIC +LOGIC+LOGIC+ LOGIC+ LOGIC+LOGIC+LOGIC+ LOGIC+LOGIC+LOGIC + LOGIC + LOGIC+LOGIC+ LOGIC+LOGI

&)




ot
~1

. Skgmmmmzo 2 S @36 Fr=s 1000 m/s
Aﬁ%@m:ﬁ@mm. qiga @t o7
-4 /s

B. 4000 m/s C. 400 nvs D. 40 m/s

18. ﬁm@hc@vseﬁmwwwwﬁﬁ@m?

A gfma B, ifesm C. s D. o
19. Higgs eferm @z waeets-

A, =9 tefag e B. & tofim afemn

C. Ttz tofim effemar D. 7= tofsw effem

[
>

09. fer &Hi wids wred am

A.CH; B. CH;NH, C. (CH;),NH D. CcHsNH,
10. T ==l goter ST ANEE I9 Sl 9w

A.Cae0O B.NeO C.CleCl D. Na € Cl
11. SiCl, w97 wiFfs a2
A. Ttttz seresy B. s=ealRe

C. g3y D. facteresrg frarfirs
12. CHj; - CH, - CH(CHj;) - CH(Br) - CH, - COOH 97 =1%-

d.;)GlC&LOGIC*LOGIC+LOG;;—OGIC*LOG’C g—;ﬂc*u;i;‘:::m*wmc +L0GIC+LOGI(;;LO(::-Lomc;,ocncn_oclc“_dmc+Loclc+Locxc+LoGIC+Lomc+Lch3§ G
um.mﬁ’m&v@ v fi5E Jw tofa - S, M 8 W1 fem Areeen i@ e ag g
) Q g 3
$ o e[S D. 22505 fw s A, Teiifes B. st st 8
g 8 A TS 1sec TTE SfeR &g 0.1A WF 0.5 A C. IS D. < <t e
go.wmwéﬁﬁwlovmﬁ%wﬁ%tm 25. TEIBTE CFTE S Toy T - Tt I siifes n
AR eelTE T A. GriBT el s R g
3 B.27H C.17H D. 21 H C. Teisem B. Goion offs @i fromy
ol A. 25 H - e Wﬁ W D .« E
2 10, 7ot O TR 20cm Y T TN (7 ARRR T O R | DT e e T e g
7 34 @ CTTR WO ¥ Fa-tA L O R I 30D S 6 C T D et
5 J s c2_A 10, CLa1 B, 127D 3 I‘A-|-1—4-,-—:--_._‘__Ir_8_:/_\.g
§ A.+6.66 D B. +5.66D C. +6.36D D. +6.60 D LI TA 18 TC 119 TATT g in NE 5 -;-“_;. 15 ,B_ 16 \B ] §
¢ 0. T o (ev) T a2 LS TA T i - o ee e e I i icd 2
2 10. e e - SO S s LS
i pwan B S C(;w tl.).aﬁnit ) 5 jb—\é,—--_---,-_--_g
941, Al FEA @tws et (Ferromagnetic substance) | ¢, _ _ _ e q !I!] - *
g e 01. NaCl 93 5te 1,0 3o waeer fo arne  ~ — — - Al
s ¢ 20 I 90 5 w0y 2
% A w67 ¢TI B. BIFT eere! Helrawe A.NaOH(aq)+HCl(aq)  B. Na*(aq)+Cl'(aq)
3 C. BIES €9PYg .?‘I‘T ?l..m D. AW of favg acace C. NaOH(aq)+Cly(g) D. OH(aq)+CI'(aq)
§ 12, «fo art (Projectile) T Af¥=lem Tk Rrore wion, wem | 02. CHZCH = CHCH, wiiift a6 oBfestaie wracgs
g @7 ST @R gt (Acceleration) - A2 B.3 C. 4 D. Nohe
g A CTTITR S 03. TrTiR cEitr T Afmte v '
g q Al< ?
;B oo Refond A.2.0-4.5% B. 0.12-0.25%
§ C. IEE MY 45° T =ie ot C.0.20% D. 0.25-1.70%
D. A AN . Iﬁ(ﬁnﬂ ﬁm mm H =TT -
8 ?
§13. afo o ek @3 CIY aits Yeriet @l wa T sifraee figy Mg +7H % Na+....?
T | Q[ =4 : :
: W@!WW’%E-U L Rem et =t <@, ToF A. a-particle B. B-particle C. y-particle  D. neutron
§ AT " B.2T C. T2 05. @41 FMAIBE Rt (Principal Quantum number) 4 g
14, @al T oI SR e R | — m?ﬁlgm w¥B1er (Orbital) @7 Jert zga-
g oy faedt Tt =g ﬂﬁ‘«iﬁ;'r-'\s c?n ) | Ao A. 10 B. 14 C. 16 D. 32
3 ' ' N 06. fox
% 15 fﬂ\%izﬁRw B. 4R C. 8R D. R/2 m.?carm RS on:metal) e Stratary wf R L
: . m%mawﬁa;ﬁﬁ%f&“ ¥ ) A.worfen B, apifim C. wifem D. @ifim
§ A525s B.424s  C.3455s  D.G6.20s 07. 0.1 M NaOH g% Tt 5000 mL “Mifits < ar Res
16, 24p; NaOH g3e® Tt 2972
§ - 33 Bi WRETBIA 20® @fB rierst et Frgorat a9T T (TSR A.200 g B.250g C.20¢g D.25g
y 0 32"1‘0'53'” - 08. Ea coieed #Mifw pH v
g A-jg Au B. g°TI  C. 2%Bj D. 218 A A 4875 B.6.467 C.6.6-69 D. 7.5-8.5
+
g
g
+
g
3
+
Q
8
-
&
g
+

- I TR X-wewT ST © i V., =it =ty fowet

T 97 Atert (range) 3=-
AR= M B. VozsinO
g g
C.R= Yosin20 D R < Ysin20
2. g 2g

TR STt - o ot i
A L

=TP B. L=pxi C. L=Fxp D. L=pi

Wmma’rmexﬁwms% | IS WieTeEn wwm
0

4800 AT FI0s T 779 2

0
A 72 A A
%, 7200 A B. 3200 A C. 2400 A
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A. o-JGT-8-[AR gy afite
«  B.ofiEm-g-w@mn i afe

C. o-itat-g-f=r3e (1B s

D. o-fiaf%a1-8 @It ¢St aftte
13. feea & cifbe gos s @iy

A.C;Hy  B. GH;OH C. CH;-O-CH; D. CH,OH
14. o5 & @9 0, w7 s Ridwm wmr

A. \/\ B. \\/O\
N NN

15. REre CHCl, 93 {3 Soitva =it e
A.CH, B. C,Hyy C. K,CO; D. CCl,
16. «3f6 aitera FHm TN 56 BTN AN Witg n=3,

=1, m=0, s= -—12- , TafS zgem?

A.Na B. Si Cc.p D. Cl
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§17 mﬁﬁmmmﬂaammwm

A. n—2, =1, m=0 B. n=2, I=1, m=1
C.n=3, I=1, m=1 D. n=3, /=0, m=0
18. Na, F, Cl @ Br Sia=eter JHeds &=-
A.F>Na">CI>Br B. Br>Cl'> F >Na*
C.Na*>F >CI'>Br D.Br>ClI'>Na‘'>F
19. NaOH, Na,CO; NH,Cl 93k CH;COOH ¢x 0.01 M
ety gRererence pH IE T STt 9w Sewft @
e |
A. NaOH, Na,COs, NH,Cl, CH;COOH
B. Na,OH, Na,CO, NH,Cl, CH;COOH
C. NH,, CH,COOH, NaOH, Na,CO,
D. CH,COOH, NH,Cl Na,CO,, NaOH
20. NTP-ts (% s e S isrnerst eais (Z) a3 T

LOGIC+ LOGIC+

IT?

A.2.0 B. 1.5 C. 1.0 D. 3.0
21. ©fw fRferan iAfs e Ty

A. Na/Ether B. Sn/HCl

C. K2CI'207/H2304 D. CUZCIZ/HCI

»
|
|
|

A.GHs B.GH, C.CH,
23. few RfEwifon quis Seottw Hie

CH,CH;OH + H,SO,(excess) 180° G

A. CH;CH; B. CH,=CH,
C. CH3-CH-O-CH,-CH; D. CH;-CHO
24. Fow Rfemm 3@ Bsw 5?7 CH,-CH(Br)-CH,-

CH;+KOH(alc) —2 5 ?

A. CH3-CH=CH—CH3

C. CH;-CH(OH)-CH,-CH;
25. Srifee wE b e

A. Fe(s)/Fe**(aq)

C. C‘llz+(aq)/Cu(s)
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B. CH2=CH—CH2-CH3
D. CH;3-CH,-CH,-CH,-OH

B. Ag(s)/AgCl(s)/Ag (aq)
D. Sn“(aq)/Sn (aq)_
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!::-_ T o |  ry! I-Anls—w = r o r 1 z
ot o “_I-_'-l'—— by - o D (R P - |
A1 B, 2 A, 3 A, 4 A5, C,_6_,A,_7_,C 8 ,A,
Lo t¢Tioinim Cl12 (A 13 !B 14 /C 15 !B (16 !B
{17 1C1 18 1B1 19 /D20 1C 1 21 1A 22 1Al 23 1B |24 Al
RECBCRT T R T ST R i . ™
e e R T i P R o sl i, 3
' Afe-3¢ ;
L O T SO BRI RIS, Ste Bk bty Sl e S AT
01. A=1—23 2k @R B=6i+3j+2k o83 w3Hn wodw
IR A v

. 4 -1 4
A. L B.cos” | ——
cos [21J ( 21)

C.sin? [ 2 D. sin’! (—i
21 21

02. 6, 0, 3, 1 WIGT YTIIFHCS VLA QIINT (IR I 4

HCFA FAG AT 6 Tt T2
A. 18 B.6 C.24 D. 12
03, lim  sinx =9
X—>T nt—X
AT B. o C.0 D.1
04. ZIGZAGWWWWW%%W
AT <A ?
A. 720 B. 1440 C. 360 D. 180
05. RAJSHAHI *fo7 weaer gaom Ryt BARISAL
o7 qFw@ KAyt Aedrtn 77 oy
A.2aq B. 4 @< C. 699 D. 8 &<
4 1—tan?
06. cosf= —zom 100 o g oy
5 1+tan“0
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A L B, <k c. 17 17 "8

15 25 25 " 35 S

07. cos 75° a7 7#fé% Ti=- ¢

a MOEL § 3 C “E D V3-1 §

22 242 242 0§

08. sin® 10 + sin® 20 + sin® 30 + ..... + sin” 80 = 2 +

A4 B. 15 C.6 D. 3 g

s

09. =1 Spem w@? §

A. 4 B. V5 C. 3 D. V2 )

10. i ++/=i @@ I %

A.2 B. 1 C.0 D. 42 8

-

11. 6x° - 5x + 1 = 0 7T T7199 1, P =, 1%?@5@,%
a

TN =3- ¢

A.xX*-5x+6=0 B.3x*-2x+5=0 g

C.x*-6x+5=0 D.5x°+2x-6=0 3

12. /3 a3 93 T T 120° W % Reqes st a3

TIHA IR Ti9 IS 7 ¢

3 units B. 4J§units C. 3 units D. 2\/§units %

13. 3x2-kx+4=0‘ﬂfﬂwmﬁuﬂaﬁ=mwma3wmkm§

i - 3

9}

A.8 B. -8 e /3 D. 8 :

14. sinA +cos A =sinB +cos B,A+B = ¢

A B. 21 @ T Dec= g

2 4 ¢

15. (-4, 3) 9= (12,-1) Rrqaeas sTeqis @Heds I 9o e §

mwﬁmm 4

A.x +y *+8x-2y+51=0  B. x*+y>-8x+2y+51=0 §

C. xX*+y*+8x-2y-51=0 D. x*+y*-8x-2y-51=0 ¢

16. |x| <1 = Jo 2x a7 f~ofets x° ag wzsl- ?

Al B.5 C.2 D.3 g

17. = Ny oyt =e g - « vort o @ erTs 75 mis

ST ofta zgert nsﬁf‘waww? §

A.18m/s® B.12mys> C.15m/ss D.7m/s* 3

n g

2 ;

18. j sin?xdx T T :

0 "

- g

ALz B. 0 c Z D. 1 g

2 4 ¢

19. 26 I 50 Afw SFeAhereTim W (NS mmr-r“‘ﬁg

(randomly) @af6 =ent e syt cofr (pnmc;

number) Wt ST FFIIT (probability) Fo? §

4 4

Al gL c. 18 D. 2 :

25 25 25 5 :

-1 -3 g

20. A= T A7 s T 5

2 4 y

ALl(4 3 g <AL 8 2

"2 |=2 =1 "2 l2 -4 g

g

42 4 3 :

c. L D. -1 ) :

2-3 -1 2(-2 -1 :

2 dy b

21. y=x(3-x") @ d—-=0mx~ﬂa‘8n=rwr 5

X
A.1 B. -1 C. +1 D. 0 g
+0
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5(x2+y?) - 10x + 15y - 75 = 0 J0&4 ¥4 e aniid

Y
§

22. )
" 2) (3
g C.|== . g
g A (1,5) B. (3,5) (2 > 3
2
9
?23 _d_{em;gx}=W1
g7 dx| x
g A Eo—loi B. 1
g S
§ e7logx elonx
§ c.2° D. gt
+
§24. cosec + cot® = /3 , (0<B<27) T @ g -

3 n b1 c I N 2_7t
E A= B. — ) ‘

g 6 4 3 )
& 2

g

4 5
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1. What is the synonym of "'Stir"?

A.Site B. Mix C. Allotter
- Which spelling is correct?
A Matarialistic B. Materialistic
C.Metarialistic D. Meterialistic
Which is the antonym of ""Commence''?
A.Cease B. Initiate

-

(=

D. Decisive

(=3
N~

[—]
bre
.

C. Inaugurate

D. Instigate

04. Which is the antonym of "Aversion''?

A.Loathe B. Detest C. Desire D. Abominate
05. Paradise Lost is written by - ' -

A.Shakespeare B. Milton

C.Wordswor D. Homer
Write down the right forms of verb.
06. I (go) to the school yesterday.

A.am going B. go

C.went

D. have gone

IC+ LOGIC+
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Use appropriate preposition (74-78)

11. I was admitted -- Begum R,

A.ln B. of C.to D.a
12. Everyone should abstain-..... smoking
A.of "B. from C.in D. for
13. He confessed --- his smoking,
A.at B. to C. with D. for
14. He is always --- a had temper --- breakfast time,
A.at, in B. on, at
C.in, at D. with, during
15. Shall we discuss it ----

your office?
A.in, to B. in, in C. to, into
Choose the correct sentence.

A. Earth is round B. The earth is round

C. Earth is the round D. The earth is the round
Choose the correct sentence.

A. She is incapable to tell a lie

B. she is incapable of telling a lie

C. She is incapable telling a lie

D. She is incapable to telling a lic

AREA : SQUARE :

A.RADIUS : CIRCLE B. ANGLE : TRINAGILD
C. VOLUME : CUBE D. BASE : CYLINDER
FIND : SEARCH ::

A.TALK : LISTEN . READ : WRITE

B
C.BELIEVE : AVIARY D.WIN : FIGHT
Disaster means-

A. incidence B
C. accident D
Which one is correct?
A. Prof. Nurun Nabi is a Population Scientist
B. Prof. Nurun Nabi is a Social Scientist
C. Prof. Nurun Nabi is a Demographer
D. All of them
What is the synonym of 'shamboles’?
A.Rumour B. Perplex C. Lucid
23.. Which spelling is correct?
A. Triangulation B. Tringuletion
C. Triangoletion D. Trienguletin
- The word 'imbibe' means-

D. on, to
16.

17.

18.

19.

20.
. hazards

. None of the above
21.

D. Mess

A.toleam B. to tinge C. to drink D. to acquire
07. X (be)a bird, I would go to the cloud. 25. Which one is incorrect?
A.am B. were C. was D. been A. He does not know how read the watch
08. Reading novels (be) me passion. B. He has put on weight
Alis B. are C. arebeing  D. have been C.My watch is slow every day
Ay 09. 1 fancy I (turn) pale. D.Isaw him only once after that
Seom e g ot L OTLY B T v o6
110, Nosoomer 7% C-tuming D haswmed | ERCR BU R er ek Bl B S RO
3 .osooner he (see) the police than he ran away. PLELRE UREN 5 TR v i Wl B o o L 6.8
~ Ahad he seen B. have he seen iy DRELC Fa3 D Tatn SaCe dmiyw (a3 A g €
C.he saw D. he seeing VAR Lo v note (e Th DT CRII0 I D
> UNIT -F » Set: Alfa
&lf ge1 s WAy (1,25 WNH 10t
"..VA
o
t

S A e Tt iy - . Q )

* A=i+jrk, B=2i+2j+ 20 | SR W coWTm B
A TG v wfomer e |

A BT o D. V2
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' bmc+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOGIC+ LOG.

8
2
g
g
]
*
g
+
2
g
g
g
:
2
g
a
&
g

02, @3 Gl Eew e e Afym e 21 e 7
TG T 5T | et WHR e TS (NS s
e wlvrt TS A
A. 180° B. 120° C.90°

03, ez cum Tt lhaad @EEir .
A.[ML2T" B. [ML'T]  C.[ML'T")

D. 160°

D. [M°LTY)

1 OQIC+ I NDIGC 4+
ICH+TI OOICA Y ANNIA LY ANIA AT AMIA LT ACIA LT ANIA LT ACTO AT ARTE AT OTIOS T OAIC 41

my room, or I shall I come--~
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1]
g 04. 45° wwrd AP Tt <gw iR wegfie st wifirer 23. T g oIt et I 0T R 7w s o ofy g
3 fAoew e e g
s . s ? A.16 B. 2 C.4 D. 10 g
§ A V02 2V, sin45° 24. 3= Bitea 87 GeT I7T- SGJ
: .? B.T Ao I B, we @@ C. % D. gy S
g o 25. T b BITTR Tt MR 2 i
: o p.Yo | AML'T? B.MT? ___C.MLT? DMr? 3
g : . B e e M s TS gy
+ 05. @ e (AT G-THTH RO TP R TR R T S Ty A T A VR ke L
§ A B DI7ID D8 € I8 IRIa0 D T in TaliC BT ATa 0 b
;  C Y@ Ermermomn D e s SNSRI i
g 06. I AW TRW@ISHE  TANG MRS AtarRd wief { : s *
% ST [T et Red | L E e ok s A ‘-__,'...-_D\_Q: _______ o 2
g A1092  B.1192 C. 1090 D. 1095 01. SyTS TICER T WO 1TS TNy T
g 07. =Y. coMT @SR (€,) 9T AT ? A.O, B. N, C.C,H;OH D.HCN S
g A.C’N'm? B.N*C? C.CNm! D.Nm?2C? 02. n=3, /=1 SoTcw M J@HT AT A ? ¢
a08. 15Q Wits q3fe ST SRLF W TSI o9 37 2821t A.8 B. 18 C.6 D. 32 8
g ST e fRed 70 9T AFRTT CFAT WCED 7 | AR 03. Hund-«3 TS wq@ifit P- o Reens B sedr- ¢
: I T 72 A.3% B. 16 C. 4% D. 0f g
g A2%10T B.4910 C.6e1WE D, 3 wd twd 04. Sr, Te, Zr 93g Rb #7197 I[HTLEA @ zee- $
> 09. 100Q W a3 “ArersteifitE 10mA Sfee ez f=te A.Rb > Sr>Zr > Tc B. Tc>Sr>Rb>Zr g
<] mqmm|10AWmmmWme 3‘% C.Sr>Tc>Zr>Rb D.ZI‘>TC>Rb>Sr :
g ACHY WIS I? ol 05. b e Q¥ wHw? §
S . :
§ A38Q B.OIQ  C210 D. 0.9Q A-HSO; ~ B.HCIO;  C.HSO;  D.AIPO,
7 10. M p-n WNR 0.1V R oty fimsom wey wigm || 00 99 W9 CO, @7 v7 F97 g
: Sf%e eIRn AR sthewt e 400mA. | a7 TS ity o A.44g B.22g C. 7.305x10% D.7.305x10% ¢
T A029Q B.005Q  C.0140  D.0250 07. Aeox Gt cRetfd RBICATTIREFT 2 :
§ 11. ¥=iitwx (Frequency) it ci=fs ¢ A e B. BeEA C.=egteeiesr D. ffafenr 3
2 AT BLTY  CLMY DT 08. fiezs Rtwwifs st wa- 2
§ 12. @@ ¥ (Fluid material) et 7wt (Co-efficient 6Fe’ + Cr’07" + 14H* — 6Fe™ +...+7H,0 .
S of Viscosity) AcC®  B.C* C.2Cr**  D.CrOH); §
§ A.[ML"T”] B. [ML'T? C.[ML?T"] D.[ML'TY 09. Feza wme-Renwe (Rign® @ et @ TOFFENT §
;,13. TR IS AT & Wik @ TG O AT Ao eSip- §
§ AL S0y, Wﬁh/ B. a5, IMIACES Zn(s) + 2H+(aq)—Zny+(aq)+Hy(1 atm) +
8 C. 5502, IMHTHS D. 3535, IFRCHETS A.Zn(s) | Zn** (aq)| | H*(a=1) | Hy(1 g
4 L q ) | Hy(1 atm) | Pt g
§ 14. = Ry o1l zwo 2m Ay SfYerFEm arenw Tw E o B. H'(a=1) | H, (1 atm) | Pt | | Zn(s)[Zn®* (aq) s
§  1m Ty SfYsrRTa eteeS W Ty C. F'@=1) | Hy (1 atm) | Pt| | Zn**(aq) | Zn(s) g
5 AE _ B.2E C.4E D.ER2 D.Zn™(s) | Zn® (aq) || H*(a=1) | Hy(1 atm) | Pt g
§ 15. T 4Po(Z=84) «x o RRrrea weowH afte T g | 10 R GO T et et BT W T 2
% A. - Po(Z=84) B. #'%Po(Z=82) " :
g C. 2Ypo(Z=85) D. 2°Bj(z=83) A. H’(gq) Hy(g), Pt B. Cu*(aq)/Cu(s) g
$ 16. @0 = 2.0 m IPME FEFT N @S FAG 30 " C- Na'(aq)/Na(s) D.F/F,, Pt g
g WTER I | 97 WART @t vy 11. Fe7 &= R-FiRes :
S A.mms’ B.2rms'  C.4nms’" D. 0.57 ms™ A. 2 e B. 315 C. fors D.w® g
g 17. <= fre Al emrz® 1 = 50 sin 300 nt st et | 12+ SN R Wiorwizs wyeriefs sen whmwow wrzen- &
G TR & e TS T Ty A. CH;X>RCH,X>R,CX>R;CHX g
§ Ad450Hz B.400Hz C.220Hz D.150Hz B. RCH,X>CH;X>R,CX>R;CHX 3
3 18 TIRTSIFTT T TOROEE o @ft Spjed | €. RCH,X>R,CX> CH;X>R,CHX g
§  IMNFSIITA @ MR ISIITT WG GO A Ss | g3 ﬁmD. CHW3X>ER2CX> RCH,X >R;CHX ¢
* 9R Sn T O Few @Al Afdwr e Frifercat Riwat 2 g
§ ASs=Sn B.Ss>Sn  C.Ss<Sn D.Ss>S A.2HCHO St il b e ¢
" . ) n (1) — 3 00
§ 19. 9.8 ms™ Wt 93 frerg By e fow s v =t <ot | ofS 9o Na'*(aq) CH3O0H(aq)+HC §
g ST AR TS Bem Wit B.2C dill NaOH,20-30°C ¢
S ASs B.2s C.3s D.10s ol = CHOHEqsHA000
§20- QB 4TF I o Tt T fonfs cowfirT a0y zget. Na'(aq) :
3 AaB&y B C. CH,CHO(1 509%NaOH,20-30°C *(aq) &
+ P&Y B.By&a Cvr,a&B D.yB&a 3 (1) > CHOH'Ga)g
g 21. =% T afita Grferbiem B = 100 qae In = 50 pA = +HCOO'Na*(aq) 3
—4 (53
R, oo D.CH;CHO(1) —_, CH;0H*(aq) +HCOO Na*(aq) g
& ALOL  B.09 C. 1.00 D. 1.10 14. Frezs coit ciif coarofifs afvgter Rt o 5
3 22. @0 e R olrex Wy Rrex sty : A.cl g
3 i, MW V a7 R s . chlorobenzene B. cthylene 3
g folet qug:: Req iy & F@ 3V T3t oo At =ifes 9% s C. dimethyletherD. 2-chloro-2-methylpropane
=]
n - o Rodm Reriemm cemiw s Ty s
§ A.3X B. 6X C.9X D. 27X A 1525%2p' B. 157257 C. 15%2s! D. 15°2s°2p §
4]
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w-wrwi%‘ (Salicylaldehyede) Tofa =4t T fAwsa

SnEvil ﬁm (Reimer-Tiemann reaction
Friedel-Crafts reaction)
B e R (

e (Kolbe reaction)
G aﬁ;ﬂ fafFm (Aldol condensation reaction)

l(?,‘.ﬂ CHO ¢t CH,COCH,; 99 T4 AFFES AN
mﬁ?"(ﬂ-
N K;Cr207/H+ B. 12),(4:1{DNP
C. [Ag(NH3)J" D.PCl
CorareT et Wt RS T T @ e
" A IR ST B. @I TS
C. fitfars fs et D. “rmigs &S
. a:mawmmmzﬁmﬁﬁmw
ARfam B fmw C. =M D. feba
@ @ T Qjfan e
AggeamE B wd@fw - Coswge D, ww
et 2 s s Wy
6

A. Si-15%2s%2p°3s%3p* B. P-15%25%2p°3s%3p®
C. Cr-1525%2p°3e*3p%3d%s'  D. Co-1s72572p%3s"3p 3d%4s
. @I e R =S e @fE e

A.F B.N C.Li D.O
. R-CONH, @ Br; ¢ KOH &7 w1 g3t 88 et 3o
@I Qs Beriy =3-
A.wifim

[N

B. @ieainiaieeT Spwize

C. 71t ufre D. =6 wfAred smenfm waet
24. ham @ e ot sAfat vor
A.36.08 B. 40.02 C.37.05 D. 38.04

25. CH,CH = CHCH; Wi+if5s waf cofieniq a2

r

e PR~ U e oy

g
a

=&

1. ltvrwzl mﬂmm m@ﬂtmmammmmmmﬂ
e e7ifS 3 1t 7 wn i <99 TEIT I0?

: .
.y B. 2 c. 1o D, —=
21 7 21
02. cot’d — (3 +1)cotd+ /3 =0,0<0 < %wne:‘.’
BT p®T . mmopomsm
63 473 375 6’4

03. -7 < x < -1 T3 AT I et wHgte-
Alx+3|<4 B.[|x+1|<3 C.|x+3|<3 D.[x+3|<1
M k@RS 2x -y + 7 = 06e3x+ky-5=0m41
4f6 *717 7% (perpendicular) ¥ ?

A9 B. 8 C.6 D. 10
 05. 'COMPUTERSCIENCE' =miftg CFISET TS QIR
et atae
15t 15! 15! 15!
30! Y " 3m "6l
X
Oc. f(x)=x—_—2mx¢2mf"(2)mmwr
| A4 B. o C.0 D.2
07. 135,, a7 Rfirrmet <ger- '
A.10001011 B. (10000111
C. 10100111 ¢ 2

D. 11010101

cu,oc(c¢Locxc+LOGIC*LOGIC+LOGIC+LOGIC +LOGIC+LOGIC+LOGIC+LOGlC+L0c-1c+Loclc+Locxc+Locrc+Loclc+Loclc+Loclc+m1cc+ +d
I

08. exy+1 =57 (if) -—: ?
¢ dx

A — B. — C. -

InS InS y
Xy = X2 X

09. &=i+2j+2k @t b=4i+8j—kuf covw o, 7 a7 Bora 5

b a7 wfSTE T .

10. y—x y= 0x-1 x_%mwvrmmmﬁﬁ
9
A.20 B. C. 16 D.22

2
11. =% ( J =9
A.l ~3 B. 114 -2
2 (-2 2(-3 1
C;L(“ *3) D__l(4 —2]
21l-2 1 21-3 1

12, y SIeFa ANeaer @R 2x - 3y +4 =08 3x + 3y - 5 = 0 w4t
o7 (A e Tiw aFel TR AqFA -
A3x+5=0B.5x-1=0 C.4x+9=0 D.3x-1=0

13. (x+y, 1) 93 (3, x-y) TG YZf6 FANF =01, x 8 y «F 917 g
TS?

A.(2,1) B. (0,2) C.(1,2) . D. (2,2)

14. X+ 5 -5x=0,%x" + y* + 3x = 0 T8I FTHA Y-

A. 4 units B. 1 unit C. 4/34 units D. 2 units
15. (-3, -2), (-3, 9) @32 (0, 0) 7w = forgrem M=+ =T,
fagafts crawa 3 3IF @352 '
A. —EE . ﬁ C.33 D. 2
2 2 2
li ) —
16,01 S 3+ SR - . ¥ T=-
x—0
A2 1 1 1
A, — B. — C. — D. —
2 2 7 N
17. sin® = %% GE 1;—< 0 < 7 T cotf + cosec (-0) 9T WA
IH?
A.3 B. —5— C = D E
3 3 2 3
dx
18. j
ol
A.In («/x+1)+c B. tan™ Vx+1)+c
C.2In (Jx+1)+c D.2tan’ (\/x+1 +c
19. sin cot™ tan cos™ x =3T?
A.x B. l C.2x D. -x
X
20. sin75°+s?n15°
sin75° —sin15° .
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01. Rubber is notable for its_ .
A. lightness B. heaviness
C. elasticity D. viscosity

02. Since his retirement, Mr. Ashik was-a professor, has
written four books.

A. usually B. formerly

C. already . D. presently
03. Do not stand --- the force of time.

A. against of B. against

C. against to D. against off

04. If he worked more slowly, he --- so many mistakes.
A. would not made B. will make
C. will not make D. would not make
05. The rows are lettered -- A to T, beginning --- the row
nearest the stage. )
A. into, with B. onwards, atC. from, at D. from, in
06. What is the meaning of the word "bibliography''?
A. concerning the Bible B. collection of books
C. worshipper of books D. list of books
07. The thief was caught red-handed. Here "red-handed"

means-
A. later B. trap C. with proof D. none
' 08. The word ""benevolent' means-
: A. honest B. kind C. unkind D. cured
i 09. Mr. Ahmed condemns politics. Here "condemn"'
; means-
5 A. denounces B. lauds

C. compliments D. acclaims

10. Select the pair that best expresses similarly of
meaning as shown in the original pair - Happy:
Cheerful
A. Add : subject
C. complement : criticize

B. work : play
D. articulate : express
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11. Which one is the correct sentence?
A. The man ran for debt.
B. The man ran into debt.
C. The man ran from debt.
D. The man ran after debt.
12. Translation of "T7 Siieia forca =7t =tz =wen” |
A. He swam across the river
B. He swam through the river
C. He crossed river by swimming
D. He passed the river through swimming
13. This is the fashion of the day. Here '""Fashion" is-
A. a pronoun B. anoun
C. averb D. an adverb
14. What is the meaning of the idiom '"'a bad egg''?
A. an unreliable person
B. a dangerous person
C. a person who can't create anything
D. none of these
15. What is the meaning of "'swan song''?

A. first work B. last work

C. middle work D. early work
16. The word '"'adjective' is a/an-

A. Pronoun B. Noun C. Adjective D. Verb
17. Which one is correct?

A. Increminate B. Incremeanate

C. Incriminate D. Incriminaete
18. I waited until the plane-

A. Did not take off B. Took off

C. Had not off D. Had taken off

19. Which one is incorrectly spelt of?

A. Reminiscence B. Repetetion

C. Mercenary D. Motivation
20. The term ecological is related to-

A. Disaster management  B. Psychology

C. Environment D. Economics
21. The verb form of 'necessity’ is-

A. Necessarily B. Necessitate

C. Necessary D. Necessities
22. What would have happened if---.

A. The plane is crashed B. The plane had crashed

C. The plane have crashed D. The plane was crashed
23. You can drive my car____ you drive carefuily.

A. As B. As well C. As well as D. Unless
24. “btvra ¥o1% wieg” Translate it-

A. No smoke without

B. Many drops make a shower

C. There are less to every wine

D. While there is life, there is hope
25. Look ___! A truck is heading towards us.

D. Into_
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